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7 100kN/m%E#8z5| 1.00 | 000 ~ 1.78| 127.34 |3m&E#BZB| — ~ — — — | 100kN/ Mm% 825 | 1.00 | 1055 ~ 1691 127.54 |3mZE#BZ5 -~ — — —
s 1.00 | 1.78 ~ 957 100.00 | #nSt | 000 ~ 9.67| 2.37 12.67 Thlst 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 1691| 2.87 12.67
2 100kN/m%E#8z5| 1.00 | 000 ~ 1.36| 120.65 |3m&EBZB| — ~ — — — | 100kN/mM%E# 25 | 1.00 | 10564 ~ 1491 120.65 |3mZE#Z5 - ~ — — —
s 1.00 | 1.36 ~ 9.15 100.00 | #nst | 000 ~ 9.15| 2.21 11.82 Thst 1.00 | 6.00 ~ 1054 100.00 | =hst | 6,00 ~ 1491|221 11.82
3 100kN/m##8x5 | 1.00 | 000 ~ 181 127.77 |3m&EBAD| — ~ — — — | 100kN/mM%E# 25 | 1.00 | 10564 ~ 1691 127.77 |3mZEHEZS - ~ — — —
st 1.00 | 1.81 ~ 959 100.00 | #nllst | 000 ~ 9.69 | 2.41 12.88 Thlst 1.00 | 6.00 ~ 1054 100.00 | =hst | 6,00 ~ 1691 2.41 12.88
4 100kN/m##825 | 1.00 | 0.00 ~ 081 112.06 |3mZEBAD| — ~ — — — | 100kN/ Mm% Bz | 1.00 | 1055 ~ 1291 112.06 |3mZE#Z5 -~ — — —
ZhLst 1.00 | 0.81 ~ 859 100.00 | #nst | 000 ~ 859|218 11.64 st 1.00 | 6.00 ~ 1053 100.00 | #nst | 6.00 ~ 1291] 2,18 11.64
5 100kN/m##8x5 | 1.00 | 0.00 ~ 081 112,17 |3mZEBAD| — ~ — — — | 100kN/mM%E#B2Z5 | 1.00 | 10556 ~ 1291 112,17 |3m%E#BZ5 -~ — — —
s 1.00 | 081 ~ 860 100.00 | =nLst | 0.00 ~ 860 | 222 11.89 Thst 1.00 | 6.00 ~ 1055 100.00 | =hst | 6.00 ~ 1291|222 11.89
p 100kN/mM%EBZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 754 96.41 | FnS | 000 ~ 7.64 | 243 13.00 Thst 1.00 | 6.00 ~ 1091 96.41 | =hs | 5.00 ~ 1091| 2.43 13.00
7 100kN/m%E#8z5| 1.00 | 000 ~ 002 10025 |3m&EBz5| — ~ — — — | 100kN/mM%E# 825 | 1.00 | 1087 ~ 1091 100.25 |3m%E#BA5 - ~ — — —
Thilst 1.00 002 ~ 780\ 100.00| FhLs | 0oo ~ 780 2.32 12.43 Fhst 1.00 | 6.00 ~ 1087 100.00 | Tns | 6.00 ~ 1091] 2.32 12.43
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 5.84 7312 | S | 000 ~ 584 | 1.83 9.81 Thist 1.00 | 6.00 ~ 6.70 73.12 | EnS | 6.00 ~ 6.70] 1.83 9.81
9 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 4.59 57.19 | =nst | 000 ~ 0.00| 1.569 8.49 ZhLst 1.00 | 6.00 ~ 56.00 57.19 | #nLS | 5,00 ~ 6.00| 1.69 849
10 100kN/ M%#2Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EEZ S - ~ — — —
ThLst 1.00 | 000 ~ 477 59.50 | =nst | 0oo ~ 000\ 1.71 918 Fhst 1.00 | 6.00 ~ 56.00 59.50 | =hs | 5,00 ~ 6.00| 1.71 918
11 100kN/MZ#22 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3m%EHEZ S - ~ — — —
ThLst 1.00 | 0.00 ~ 6.76 85.43 | =ns | 000 ~ 0.00| 1.68 8.99 zhst 1.00 | 6.00 ~ 835 85.43 | TN | 5,00 ~ 835| 1.68 899
19 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#B 2% — - ~ — — |3m%EHEZ 5 - ~ — — —
Thilst 1.00 |1 0.00 ~ 6.86 86.86 | =ns | 000 ~ 686 1.75 9.38 Fhst 1.00 | 6.00 ~ 842 86.86 | #nLS | 5,00 ~ 842\ 1.75 9.38
13 100kN/m%#8z2% | 1.00 )| 000 ~ 1.17| 11764 |3mz8B25| — ~ — — — | 100kN/m%E#Bz25 | 1.00 | 10564 ~ 1425 117.64 |3mEHEZB - ~ — — —
Thilst 100|117 ~ 895\ 100.00| Fhbs | 0oo ~ 895)| 2.16 11.568 ZnLst 100 5600 ~ 1054 100.00| FnLS | 5,00 ~ 1425| 2.16 11.58
14 100kN/mM%#825 | 1.00 | 000 ~ 1.51 123.03 |3m&#BAB| — ~ — — — | 100kN/m%#8%2% | 1.00 | 10.68 ~ 1621 125.03 |3mZBZ5 - ~ — — —
Thilst 100|151 ~ 930\ 100.00| FhLs | 0oo ~ 9.30| 2.29 12.24 TnLst 1.00 ] 56,00 ~ 1068 100.00| FnLst | 5,00 ~ 1621 2.29 12.24
15 100kN/mMZ#825 | 1.00 | 000 ~ 081 112,17 |3m&BAB| — ~ — — — | 100kN/m%E##8z25 | 1.00 | 1094 ~ 1370 11217 |3mx#EZ3 - ~ — — —
ZhLst 1.00 | 0.81 ~ 860 100.00 | #hst | oo ~ 860 | 206 11.01 ZhLst 1.00 | 6.00 ~ 1094 100.00 | =hst | 6.00 ~ 1370 2.06 11.01
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